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The main use of a drill is-
A)Brushing
C)Cutting

T T3l T {ET 39T
INEIRE!
C)sfear

Answer Key : B
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Determine the equivalent resistance.

Name
Exam Date

Exam Time

Question No. 1

B)Making holes
D)Striking

B)gled Sellell
D)Eers i

Question No. 2
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C) D)

8/5k0 8kQ

Answer Key : B

Question No. 3

The frame of an induction motor is made of-

A)Silicon steel B)Aluminium
C)Closed-grained cast iron D)Stainless steel
FERIA AT FT A T FoT1 gier &1

A faferela w&er B)TegHi oz
C)Fellss-Ie8 FIEC T D)TTor T FEleT

Answer Key : C

Question No. 4

An SCR has PN junctions.

A)2 B)4
C)3 D)5
T SCR # PN SR g1 §

A)2 B)4
C)3 D)5

Answer Key : C

Question No. 5
Which wiring is suitable for temporary installations?
A)PVC conduit wiring B)Cleat wiring
C)Metal conduit wiring D)Concealed conduit wiring

IRl Tt & fw - arafiEr segET 82

A)PVC #zge araRar B)Feile araier
C)urd & #zgc AR D)&edles $gge aranaT

Answer Key : B

Question No. 6
IE Rule 48 deals with the-
A)Clearances above ground of the lowest conductor B)Precautions against leakage before connecting
C)Earthed terminal on consumers' premises D)Cut-out on consumers' premises

IE fAg# 48 frad wefla §?
A)fAFaaad ssFe I THA & IR HT HAprr B)&eide el & Ul oilchel & Ufd TTaenfaar
C)3usiransit & gREx & 31T cfFiaar D)39IFdT & IRET H FHe-313¢

Answer Key : B

Question No. 7

The positive plate of a lead-acid cell is-
A)Sponge lead B)Nickel hydroxide



C)lron D)Lead peroxide

A-TRAT AT A GATHF e, #r g gl
A)TIST o3 B)faeher grssiaass
C)3maRet D)ols WRIFASS

Answer Key : D

Question No. 8
The colour of a 350 kQ resistor with a 5% tolerance is-
A)Orange, Blue and Orange with Gold B)Orange, Yellow and Yellow with Gold
C)Orange, Yellow and Green with Gold D)Orange, Green and Yellow with Gold

5% WiRSoLar arer 350 kQ wfeRitre & 1 = §7?
A)ARET, sfer AR de & arY ARl B)aReM, drerm 3R Alet & Jry drerr
C)arEeN, drerm 3R I & ATy & D)=at, & 3R A & Jry drerm

Answer Key : D

Question No. 9
As the speed of an alternator increases, the frequency-
A)Remains constant B)Decreases

C)ls zero D)Increases

SRR IreeTeT Y T aach &, mgfer &
A)feeR B)&relr
C)a D)seelr
Answer Key : D
Question No. 10
help(s) the commutation process in a DC generator.
A)lnterpoles B)Pole shoes

C)Compensating winding D)The cooling fan

, DC 9 F Fogerar ufhar & Agg Far gl
A B)diel <&
C)arfarfed D)efrerere it

Answer Key : A

Question No. 11

In a DC machine, the form of armature MMF waveform is-

A)Circular B)Triangular
C)Sinusoidal D)Rectangular
& DC Al #, 3mfaw MMF aaeT &1 &9 gar gl
A)Fedrm B)Berofir
C)arsTaisse D)3k

Answer Key : B

Question No. 12

What is the purpose of bedding the UG cables?



A)To protect the cable against moisture and gases B)To protect armouring against atmospheric conditions
C)To protect against different losses D)To protect the metallic sheath against corrosion

UG Fad & TEROT (fFa1) 7 R 3327 872
A)asr AR It & favg Fao F FaE@ | B)arg#se ufd & faeg 3mdRer &1 s e
C)affea g1ferdl & favg Sard el D)H&TRUT & Ta%g Yifcas 3MEROT &7 Sa1d HLaAT|

Answer Key : D

Question No. 13
Which of the following is a form of material or equipment remediation that is performed after the material or
equipment has lost its functioning capabilities or properties?
A)None of the options B)Planned preventive maintenance

C)Unplanned preventive maintenance D)Breakdown maintenance

i@ & & FleT a1 T AT 3YFOT 3YAR FT TF § § SiT 3THIOT AT AHIA & 9o HABON ST

1 IOl A @ A F e B S 82
Afawedl § & PIS AGT B)faaifoa Rafeas @@
C)3faaifara Mafea TaraE D)siehsi3el I@E@IT

Answer Key : D

Question No. 14

In a DC machine, the laminated parts are the armature core and-

A)Pole shoes B)Shaft
C)Yoke D)Base

T DC @l #, affsies Ry, 3w a1 3 e &l
AT et B)2mFe
C)Jr+ D)sd

Answer Key : A

Question No. 15

ADIACis a terminal device.

A)Five B)Two
C)Four D)Six
DIAC T& cfferer Bagw &1

Ayarg B)ar
C)arR D)o

Answer Key : B

Question No. 16
Which of the following is an active element in a circuit?
A)Capacitor B)Current source
C)Inductor D)Resistor

ffaf@a & ¥ Sl a1 Ry & w afFg aa 82
A)FefT B)YRT &
C)R= D)gfeRIgs



Answer Key : B

Question No. 17
In which of the following hacksaw frames can different standard lengths of blades be fitted?
A)Both bold and adjustable frames B)None of the options
C)Adjustable frame D)Bold frame

AfRf@a & ¥ g T B H, RT-3H9T Al oas & sas e FU T o &2
A)des 3R vseeead %, gt B)faweul & & P15 AGT
C)ussiEead A D)ses %

Answer Key : C

Question No. 18
Which of the following is the IE rule for service lines and apparatuses on consumers' premises?
A)Rule 62 B)Rule 30
C)Rule 42 D)Rule 50

3YSFAT & IRET & qar arsar 3R 3y & Qv Ffaf@a d§ & s ar IE @aw &2
AT 62 B)fer# 30
C)eaH 42 D)fra# 50

Answer Key : B

Question No. 19
Which of the following logic gates has a high output when two inputs are high?
A)NOR gate B)NAND gate
C)XOR gate D)AND gate

A&t $IYe ¥ 3o9 g W, Pfaf@a # ¥ frw difoe 9T @1 3mseye 3°9 gem?
A)NOR 73 B)NAND 3

C)XOR 73 D)AND 3T

Answer Key : D

Question No. 20

The tolerance is , if there is no band in the resistor.
A)5% B)20%
C)12% D)9%

Ifg gfoies & A d5 78 ¢, o |fesopar ___ &
A)5% B)20%
C)12% D)9%
Answer Key : B
Question No. 21
Rotor winding of alternators is also known as-
A)Armature winding B)Field winding
C)Protruding winding D)Non-salient winding

Jeeteiel Fr NeX AP & vy A ¥ o Jrer Siar &2
A) 3R argfsar B)fres arsfsar



C)wrgfsar amgfsar D)aTT-dferie argfEar

Answer Key : B

Question No. 22

Capacitance is measured in-

A)Ampere B)Farad
C)Ohms D)Henry
enfer i et A STar §7

A)TFIRR B)¥Rr3
C)3H D)g=lr

Answer Key : B

Question No. 23

The minimum dielectric stress on a cable is at the-

A)Conductor surface B)Insulation layer
C)Armour D)Lead sheath
TF FaT W GeIad Widegd Tfaael W @ &l

A)FsFeT Al B)gwgoi2le W
C)3m R D)elrs ofrr

Answer Key : D

Question No. 24
What will happen to the voltage drop if the area of cable is more?
A)Increases B)Remains the same

C)Becomes zero D)Decreases

Ifg Faer 1 oRAT (89) 30 &), o deesr 39 F FT FeM?
A)FeI B3 & Tgam
C)=a 8l Srwan D)&eem
Answer Key : D

Question No. 25
A potential difference of 10 V is applied across a conductor whose resistance is 2.5 ohms. What is the value
of current flowing through it?
A)2ZA B)6 A
C)}4A D)10A

T Gl & IR 10 V F7 Asaicr arR) Far Srar @ 5w 9foie 2.5 3ie §) s8% Aregs | Sgo arelr
RT T AT 4T 87

A)2 A B)6 A

C)4 A D)10 A

Answer Key : C

Question No. 26
A is a device which is used for the transformation of current at a higher value to a lower value with
respect to the earth potential.
A)Current transformer B)Generator



C)Motor D)Potential transformer

v Basy § ower swier gur fr Rwe & @9y &, 359 A9 § @ AT /W R F S
(transformation) & forT R SiraT 1
A)FT TEABIF B)SIeReX
C)Aex D)&efad T awmiaR

Answer Key : A

Question No. 27
A has rows of teeth in two directions across each other and is used to file hard materials such as
steel, brass and bronze.

A)Rasp-cut file B)Double-cut file

C)Curved-cut file D)Single-cut file

T # wh g F ar IR & Remst # it fr Rt @ § 3R s swier e, daw 3k
FIET SR FOR AHA F FlEd T F AT Baqr s B

A)TY-FHT B B)sddl-he BISH

C)&hes-Hhe WISl D)RsTer-ahe WISt

Answer Key : B

Question No. 28

The phase difference between the current and voltage in a pure capacitor AC circuit is-

A)45° B)180°
C)90° D)15°

T € WURT AC afde (IRTy) F arr 3R At & @ Far (WRoT) IR gl
A)45° B)180°

C)90° D)15°

Answer Key : C

Question No. 29

Identify the tool.

=0 )

A) B)

Firmer chisel Electrician knife

C) D)

Flat plier Tenonsaw



3THI0T I T |

wR orerer ST TR

Tele TIET (plier) AT AL

Answer Key : A

Question No. 30
Which of the following error occurs because of parallax?
A)Observational error B)Instrumental error
C)Gross error D)Random error

oaeT (Parallax) & FROT fasfaf@d & § Fla-d@r I 3cdqe=r g 82
A)veToTca® Jfe B)IH e
C)&ehel Ifie D)arefo® Iie

Answer Key : A

Question No. 31
Which of these basic ways will help remove or isolate the combination of factors of fire towards extinguishing
the fire?
A)Smothering B)Cooling
C)Starving D)AII of the options

S & FleT A1 g TF, T G Fr QR F T F FREAF F WAST Fr G AT IHWT T T Aeg
HQM?

A)FAGRAT B)Fforer

C)Terfder D)fashent & & el

Answer Key : D
Question No. 32
What is the full form of PVC cable?

A)Polyvinyl chloride B)Plastic carbide
C)Plastic chloride D)Polyvinyl carbon

PVC Fael T qUT &9 1 §?
A)ulenfaerger FeRTSs B)cafEcs Falss
C)reTi¥esh FelNIss D)dTehfaeTsel Prdet



Answer Key : A

Question No. 33
The potential applied at one end of the resistor (Point A) is 8 V and the potential at other end of the resistor
(Point B) is 5 V. What is the potential difference between the two points A and B?
A3V B)2V
C4av D)6V

wfoies (g A) & @ Ry o e B3R arr fasr 8 V § 3R gfediues (g B) & qay Y W s 5 v 71
ar Rigait A 3k B & drr Rsraiay R 82
A3V B)2 V
C4 Vv D)6 V
Answer Key : A
Question No. 34

When extinguishing fires, smothering is essential for-

A)Removing the fuel element from the fire B)Exclusion of oxygen

C)Lowering the temperature by using water D)Addition of the fuel element to the fire
3T g FAY, ¥ fow wAUReT 3maeas g

A)SYeT dcd HT T I geled B)3ifarelioied & 3Tqaeiet

C)UTsi & 9T & dATIHA HHA Hlel D)3 & §9A ded &l Sl

Answer Key : B

Question No. 35

A transformer designed to reduce the voltage from primary to secondary is called a/an-

A)lsolation transformer B)Step-up transformer

C)Step-down transformer D)Auto-transformer

TAfAF ¥ gRAdEF & dees H A T & v Boga v 7w gEwE F gl ST gl
A) ITSHRNT SAHIET B)EU-31T CiEHIAT

C)¥CU-313+T CrABIAR D)3ifel TrapiaR

Answer Key : C

Question No. 36

The amount of charge stored in a capacitance is proportional to the-

A)Inductance B)Applied voltage
C)Resistance D)Applied current
eiar (FAResw) 7 T 3maer & A ¥ HAIfF B Bl
A)Recd B)UTass dlecst
C)ufareyr D)UTAT8s T

Answer Key : B

Question No. 37
A number of cells connected in parallel provide a-
A)Lower power B)Lower current
C)Higher current D)Higher voltage



FARIR F & 7§ Al wereT el ¥

A)feT grax B)fei#= amr
C)3Tg 4RT D)3=d dlecal
Answer Key : C

Question No. 38

The machine in which energy transfer happens both through induction and conduction is a/an-

A)Auto-transformer B)Drilling machine
C)Poly-phase system D)Three-phase system

ag el Forae SRor 3R 9reT Qe & ATEIH @ Foil T gEdia]YT 8T ¥, 9% U

A)3iTeY gradreR B)fsfeear aafer
C)dtel-that faTeH D)da-%aT RATes

Answer Key : A

Question No. 39

A 2-ampere current flows through a 220-volt lamp. Calculate the resistance of the lamp.

A)100 Q B)110 Q
C)80 Q D)120 Q

& 220-diee o7 & 2-uriRR 9RT yaifed @i 1 T & gfaer $ aoer #
A)100 Q B)110 Q

C)80 Q D)120 Q

Answer Key : B

Question No. 40

Find the equivalent resistance of the given circuit.

125V _—
- 200 300 500
MWW—WW—WW

50Q 20Q

C) D)

1008 30Q



few v wfve @1 wHgew ity 7= Hifew

125V "=
- 200 300 50 Q
MWW—WWW—WW

50Q 20Q

100Q 30Q

Answer Key : C

Question No. 41

Indian electricity rules specify that the maximum load on a light/fan sub-circuit should NOT exceed-

A)1200 W B)800 W
C)2400 W D)3000 W

AR ool Age [fdse Fa § F v dEe/iy F9-dfhe W 3w AR ¥ &% & g
=Rl

A)1200 W B)800 W

C)2400 W D)3000 W

Answer Key : B

Question No. 42
Which of the following is CORRECT for a shell-type transformer?
A)The winding encircles the core B)The core has three limbs

C)It has a single magnetic circuit D)Cylindrical coils are used

Ad-eBT BN F AT, @ F ¥ sla-ar af &2
A)arsfEer, s & 2 war gl B)®R # il wesh g gl
C)s@H Uehel aehig URTY giell gl D)SelAThR Higel HI 3UANT FaAT ST &1

Answer Key : B

Question No. 43

The charging current should be of the Ah rating of the battery under the normal charging rate.
A)10% B)40%

C)30% D)20%

TIfSteT T, AT ST oT & a8 Sedt @ Ah YT @ gl =gl

A)10% B)40%

C)30% D)20%

Answer Key : A



Question No. 44
Which of the following electrical properties is denoted by 'Z'?
A)Resistance B)Inductance
C)Conductance D)Impedance

frfaf@a # & Fia-ar Regd 7o, '2' garr AwRa B smar 82
A)ufasrer B)Wehca
C)drelehed D)sferserm

Answer Key : D
Question No. 45
states that the illumination of a surface is inversely proportional to the square of the distance of the
surface from the source.

A)Lambert's cosine law B)Ampere's circuital law

C)Inverse square law D)LenZ's law

I & &% U Wole H 99, AT § Folg A g F G HT SGHAGIR g ¢

A)FEE T FAST A B)uFdR &1 aRuiT fAas
C)egeshd adt foras D)oot &1 f@gs

Answer Key : C

Question No. 46

The peak factor is also known as the-

A)Frequency factor B)Power factor
C)Amplitude factor D)Form factor
i thaex &Y o T ST §

A)Tiherddl (3mmgfce) therex B)urax X
C)ueFeeliegs (3mT#) el D)G e

Answer Key : C

Question No. 47

The underground system is expensive than the equivalent overhead line system.
A)None of the options B)Much less

C)Less D)More

AT NS agar Rwew fr gorem 7 syffera yomelr wE B

Aol F A FIg AGT B)Sgd %A

C)wH D)3

Answer Key : D

Question No. 48
The ratio of the total lumens reaching the working plane to the total lumens given out by the lamp is called
the-
A)Utilization factor B)Maintenance factor

C)Waste light factor D)Depreciation factor



FANT Tl O TgT AT Fel oG 3N G9F G@RT T T Fol oA & e[t B FgT ST
gl

A)3TINT HRE B)Y&R@ra thaex

C)a¥c oge thaex D)3 thaex

Answer Key : A

Question No. 49

What is the use of the mortise chisel?

A)Drilling round holes in wood B)Making rectangular holes in wood
C)Removing fine amounts of materials D)Paring and finishing joints in wood

AfEST St &1 3T T §?

A)a@ar #H M B 3ol e B)e&hal # JIATSR el (T5g) S=IreT|
Cyar#f i FLT AET &l fARIerT| D)cTshst H, Brelet 3R SISt 1 IRSH0T aaT|

Answer Key : B

Question No. 50
If the length of the single core cable increases, then its insulation resistance-
A)ls infinity B)ls zero
C)Decreases D)Increases

i faTer FR Faer Hir oo 96 A B, A SHA SR TRy
A)3ed BT T B)[eT & &l
C)ge e gl D)d¢ ST gl
Answer Key : C

Question No. 51
If KCL is applied to a junction in a network of conductors, then-
A)The algebraic sum of the currents meeting at the B)Current at the junction is infinite
junction is zero
C)Net current flow at the junction is positive D)No current can leave the junction without some

current entering it

Ifg Feaet F sicad H v SR W KCL @] fmar e 8, ar-
A)SFE R A arell ORI &1 SO AT B)Se 9 Hie 31d aidl ¢l
YT R g
C)SieRleT WX € URT Jalg ellcHs BT & D)IS §ff aie, 9o Fo e & sHH Ja fhu SR
&I BIS AT Hebell &

Answer Key : A

Question No. 52

A is also known as a photovoltaic cell.

A)Secondary cell B)Solar cell
C)Primary cell D)Dry cell
Lo FI, BIeEifeed dT & ® & it ST S0 B
Agfadras ae B)&leR el

Cyrafew der D) Jer



Answer Key : B

Question No. 53
What is the effect on the total resistance if one of the resistors is shorted in a series resistor circuit?
A)Increases B)Becomes zero

C)Decreases D)Is unchanged

Ife Rl ve wfoRius #t @er wioius aRay 3 € (shorted) FX far ae, & Far gfodyr X =T weorma
qgTr 87

A)FET &l B) & ST &l

C)uear gl D)3raRafdd & &l

Answer Key : C

Question No. 54
Which of the following is the primary function of a fuse?
A)To increase the voltage B)To protect the operator
C)To provide DC current D)To prevent excessive current

fa=faf@a F ¥ Fia-ar W &1 wufas s 5§72

A)areesT F qETel B)3iTReX &1 FR&T il
C)DC & Yald &=l D)31cafeieh e @l AUdhell
Answer Key : D

Question No. 55
Which of the following instruments is used as a null detector in a Wheatstone bridge?
A)Galvanometer B)Wattmeter
C)Resistor D)Rheostat

e o 7 A (null) BT & T F Feafaf@a F I fFa 39T F 39T R Sar 82
A)dredaaer B)aTeex
C)gfarreren D)Rareee

Answer Key : A

Question No. 56
According to IE rules, no cut-out, link or switch other than a linked switch shall be provided on the
conductor, EXCEPT a link for testing purposes.
A)Phase B)Earthed
C)Neutral D)Ultra

IE & et & Iregar, gdieror 3eedt & fAv ve fole @ sisaw, fiF fre av faw & sremar #15 ofr Fe-3m3e,
ol o1 ag ___ Fzdex W e ¢t frar e

A)sT B)sg@afha (3403)

C)31aATaeft D)37eer

Answer Key : A

Question No. 57
If a capacitor stores 0.24 coulombs at 10 V, then its capacitance is-
A)0.12 F B)0O.8 F
C)0.6 F D)0.024 F



I F:§ FURA, 10 V W 0.24 Foid I Far §, ar s aiRer gl
A)0.12 F B)0.8 F

C)0.6 F D)0.024 F

Answer Key : D

Question No. 58
The charge on a capacitor is given by the expression-
(where Q is charge, V is voltage, | is current, R is resistance and C is capacitance)

A)Q=CV B)Q = VI
c)a=Ic D)Q =

T GURT W 3R H; ffcafda g@rr Rar s @
(STeT Q 3 &, V diee §, | 9RT &, R wfaRier & 3k C amfar &)
A)Q = CV B)Q = VI
c)Q = IC D)Q = IR

Answer Key : A

Question No. 59

What is the unit of luminous flux?

A)Lumen/m? B)Lumen
C)Candela D)Lux
fATE vl B gfae = g7

A)gH=/H2 B)egA=
C)Fesar D)elFd

Answer Key : B

Question No. 60

The power consumed in a three-phase system for any balanced load in
star or delta connectionis-

3VI sinb \3 VIcos8

) D)

\/3_VI sin@ 3 VI cosb

TR IAT 3T FeierA H, m;ﬂﬂgﬁﬁaﬁg#iﬁvzﬁﬁﬁ e #
T T AT el IraT



3VI sinb 3 VIcos8

C) D)

\/3_VI sin@ 3 VI cosb

Answer Key : B

Question No. 61
What happens when a voltmeter is connected in series with a circuit?
A)Small current flows in the circuit B)Meter burns out

C)Large current flows in the circuit D)No deflection in the meter

T T § 519 TS dlecHley H U ihe (TRI) & arr Jofspe 7 st sar &2
AT & HF 9RT yarfed giar g B)#ex STt STl &1
C)uRuy # 3% arT yared g & D)HIeT # 1S fygqur g gyar ¥

Answer Key : A

Question No. 62

states that the magnitude of induced EMF is equal to the rate of change of flux linkages with the

coil.

A)Ampere's circuital law B)Kirchhoff's law

C)Faraday's law D)LenzZ's law

_ garar § @ 9Ra EMF T 9R&AT Figd F AT Fogd foidst & IRIdT AT &7 F T ¢l
A)TFEiRR &1 9Rudr Fae B)fars &1 fagsr

C)rs & s D)elest &T e

Answer Key : C

Question No. 63
Find the impedance of an alternating-current (AC) circuit if a 110-volt alternating voltage source causes a 20-
amp alternating current to flow.
A)55Q B)1.1Q
C)3Q D)2.2 Q

T YIEdt ORT (AC) dffhe & ufaarem g fifSe, afg 110-alee & YoEdt dleest A 20-amp Yedddt
4RT & YaIg A HROT Tl &l

A)5.5 Q B)1.1 Q

C)3 Q D)2.2 Q

Answer Key : A

Question No. 64
The incandescent lamp operates at a power factor.
A)Zero B)0.5 leading
C)0.5 lagging D)Unity



aEeT o, IR theer W F=Ifad &ar 21
AT B)0.5 afEer
C)0.5 dfffar D)

Answer Key : D

Question No. 65
What is smothering in the extinguishment of fire?
A)Adding the fuel element to the fire B)Using water to lower the temperature
C)Removing the fuel element from the fire D)lsolating the fire from the supply of oxygen

3t afterster #, Safer = gar 82
AT & YT dcd B ST B)dTIATT &HA el o TolT Tlall FI SEAATS el
C)3T4T & S dcd $T gelall D)3iferefater T 3mqfct & 3MeT &t 37eTeT el

Answer Key : D
Question No. 66
What is the form factor value for a square wave?

A)1.1107 B)1.1547
C)1.5707 D)1

TFRT 39 & fov B et AT 1 gar 82

A)1.1107 B)1.1547
C)1.5707 D)1
Answer Key : D

Question No. 67

Conventional current flow occurs from the of the battery through the external resistance.
A)Negative terminal to the positive terminal B)Casing to the positive terminal

C)Negative terminal to the casing D)Positive terminal to the negative terminal
IRIRE GRT YaTg aedr gfaer & Aregsw ¥ S & gl 71

A)FUTIcHS THAT F UlcHS Ciatelel dh B)&hfHT & UeATcAsh cfiiader ds

C)HUTIcH® cfiaal & HIQT dF D)&TcHA® cfHTel & HUNcA® clidel do

Answer Key : D

Question No. 68
are made by coating the two sides of a small porcelain or ceramic disc with silver and stacking
them together.
A)Ceramic capacitors B)Mica capacitors

C)Paper capacitors D)Electrolytic capacitors

@ o Al A F \aaT T AR B F Qe Fart ar @il § AT |_&F 3R 35 ™
Y T TP F TART ST gl
AfRFe auia B)ATSHI (374h) TETRT
C)IR wenRe D)soiagamsiesd HuRa

Answer Key : A

Question No. 69

The pendant holder is used for-



A)Fixing the exhaust fan B)Hanging the ceiling fan

C)Hanging the bulb D)Fixing the wires

¥ST @iesT T 39T & fow fFar e g

A)usSitEe the @t e FteT B)&d & (ceiling) & I oIcahlet
C)ded &l oIcahlel D)arRR &I therd et

Answer Key : C

Question No. 70

Identify the type of cable joint.

A) B)

Western union joint Knotted tap joint

C) D)

Britannia joint Fixture joint

Fecl FS & TR & Tg==|

Yt e s ARz ¥ S

EEIGEIRCIE =SS

Answer Key : B

Question No. 71
How is the rate of evaporation in a tungsten filament bulb reduced?
A)lncreasing filament resistance B)Producing an arc in the bulb

C)Reducing filament resistance D)Filling an inert gas



TIRCST e doa &, asfior A a7 FF FA FA FAr Sar 82

A) e gfaier & gga & B)ded # 31Th 3cUeed et &
C)frarmeie 9faiYy & &7 T I D)us 3ifha T & e @

Answer Key : D

Question No. 72

What is the unit of conductance?

A)Mho B)Ohm-m
C)Ohm D)Ohm / m
Hrelhcd T Ffae T 82

A)FEY (Mho) B)311e-#T
C)3# D)3t / #r

Answer Key : A

Question No. 73
Which of the following laws states that in an electric circuit, the algebraic sum of currents at any junction in a
circuit is zero?
A)Faraday's law B)Coulomb's law
C)Laplace's law D)Kirchhoff's law

ffaf@a & & Fla-wr e Fear § F v Rgga oy &, R oy & Fh SR @ arwEt @
SISO AT T BT 7

AHTS FT FaH B)&eis 1 forae

C)erreend &1 s D)fars &1 faas

Answer Key : D

Question No. 74
A 220V, 100 W bulb is connected to a 110 V source. Calculate the power consumed by the bulb.
A)10W B)20 W
C)25 W D)15 W

TH 220 V, 100 W T Jea 110 V & Wd § ST | Tod g@RT IUSIT &I S arell 9l Y 7orar H|
A)10 W B)20 W

C)25 W D)15 W

Answer Key : C

Question No. 75

HRC fuses provide the best protection against-

A)Low voltages B)Reverse currents
C)Open circuits D)Short circuits

HRC W&t ¥ favg wafeas geaT Y= R §

A)elt arest B)Rawl s (Radld axe)
C)3usT |fdhe D)aifé-afde

Answer Key : D

Question No. 76



Class C fire refers to a fire due to-

A)Cloth B)Paper

C)Ethylene D)Kerosene

FTE C T 31, & HROT AN ATl T H FET Her &
A)&ysT B)araret

C)ufrela D)fAEr & dor (=)

Answer Key : C

Question No. 77
What is the background colour of warning signs in the basic category?
A)Blue B)Purple
C)Yellow D)Green

A Aol &, It & whal F SR T FieT-ar 7
INGIG B)daretr
C)drerm D)exr
Answer Key : C
Question No. 78
can be manufactured in a wide range of values ranging from 1 Q to as high a value as 22 MQ.
A)Metal-film resistors B)Light-dependent resistors

C)Wire-wound resistors D)Carbon-composition resistors

# AT 1 Q & A 22 MQ aF & 39 AW aF & At B U Aeqa & & fRar s e g
A)Tg-thed gfcRiers B)srehrer-3mena gfaiiess
C)arR-ar3s yfeRiush D)FTe-8ITeT FfcRIereh
Answer Key : D
Question No. 79

The PMMC meter can measure-

A)Only very high frequency quantities B)Only AC quantities
C)Both AC and DC quantities D)Only DC quantities
PMMC #rex &I AT Fhell B

A)hdel Sgd 3T gfed H T B)shael AC rfrdr
C)AC 3ik DC ufwi, grar D)shaer DC it

Answer Key : D

Question No. 80

Determine the amount of charge stored on either plate of a 3 x 10-® F capacitor when connected across a 12

volt battery.
A)4 x 108 C B)4.2x 10 C
C)3.6x10°C D)36 x 10° C

FE 12 dice A & F T F3 @ W, 3 x 106 F ¥ulRa $r el ofr e | dia 3mawr $ir #7mr Aufia
Eay
A)4 x 106 C B)4.2 x 106 C



C)3.6 x 10 C D)36 x 10 C
Answer Key : D

Question No. 81
A 11-volt battery has three lamps connected in parallel. The resistance of each lamp is 6 ohms. How much
current is flowing in the circuit?
A)0.32 A B)5.5A
C)3.6 A D)0.6 A

HIg 11-dIee i $eq F FAFCR & i o7 3 §T &1 TS A7 &1 9fo0y 6 A g1 o Fihe # fhder e
varfeer & T &2

A)0.32 A B)5.5 A

C)3.6 A D)0.6 A

Answer Key : B

Question No. 82

The deflecting torque of a moving iron instrument is directly proportional to the-

A)Square of the current B)Square root of the current
C)Cube root of the current D)Current

AT 3R $EgAT T T S & A rearfas giar g

A)ORT & T B)YRT & adfefel

C)URT & ETHe D)&mRT

Answer Key : A

Question No. 83
Which of the following wirings is recommended for temporary installation?
A)Cleat wiring B)PVC conduit wiring
C)TRS wiring D)CTS wiring

IR T (SRTere) ¥ fav fmafaf@a & & frw arfer fr e fr s 82

A)Fellc araiar B)PVC w&esge araRer
C)TRS argRar D)CTS arafer

Answer Key : A

Question No. 84
Which of the following-hammers is also known as the machinist's hammer?
A)Ballpeen hammer B)Sledge hammer
C)Hand hammer D)Club hammer

A & & e ey = 'mifee & auly' & w0 & it ST ST §2
A)sTer dieT gaiter B)TorsT gaiter
C)grr I g2itst D)Fers gisT
Answer Key : A

Question No. 85
The EMF induced in a coil due to the changing current in the neighbouring coil is called-
A)Steady current B)Electromagnetism
C)Susceptance D)Mutually-induced EMF



fAeeadt #iger # IRadl URT & FRT Figer #§ IRT EMF Fr T ST &1

A)feRR ar B)facgd dedhca
C)Igurelierdr (FEaeeH) D)uREIRe& ¥ T-URd EMF

Answer Key : D

Question No. 86

The reciprocal of ohm is-

A)Henry B)Farad
C)Coulomb D)Siemens
3 F YA g &l

A)gr B)¥s
C)gold D)yfd=d

Answer Key : D

Question No. 87
The meter which is used for measuring electric current is called the-
A)Ohmmeter B)Voltmeter
C)LCR meter D)Ammeter

fega arT Ae & AT ggFT AT F AT Fr T 82
A)IFNFARI B)alecHieX
C)LCR #lX D)37FHTeT

Answer Key : D

Question No. 88
Which device converts sunlight into electrical energy?
A)Liquid crystal cell B)Photovoltaic cell
C)Light emitting diode D)Light dependent resistor

FlT-T 3T, FF F hrr Fr fgga Feir F aRafela war &2
AfoTFas foheea adr B)Wicidlcerss Tol
C)JahIeT 3cHoish SIS D)Jehrer 3T ufaRrers

Answer Key : B

Question No. 89

What is the unit of potential difference?

A)Ampere B)Watt
C)Coulomb D)Volt
fasraian #r gfae =T 22

A)TFIRR B)arc
C)gers D)atee

Answer Key : D

Question No. 90



What does the figure shows?

A) B)

Double cut file Curved cut file
C) D)

Single cut file Rasp cut file
o= sl = ar e 22

Answer Key : B

Question No. 91

The fusing element of a fuse is usually made of:

A)Mica B)lron
C)Copper D)Steel
T RIS T R dcd FRE S e §7

A)HTSHT B) 3t
C)ehraT D)&érer

Answer Key : C

Question No. 92
What is the equivalent capacitance across a set of two capacitors in series having 470 nF and 1 pF,
respectively, when connected to a 12 V AC supply?
A)222 nF B)111 nF
C)320 nF D)354 nF



H$ 12 V AC qfdd & Falee g1 W, saAer: 470 nF 3R 1 pF are 4@er # aF dulat (Ffed) & de &
FAGeT HIRET T 872

A)222 nF B)111 nF

C)320 nF D)354 nF
Answer Key : C

Question No. 93

Identify the tool.
A) B)
Hacksaw Chisel
C) D)
File Drill

30T TgaT |

sirgr-3mdY () fRrerer (&)

C) D)

e fger

Answer Key : B

Question No. 94
What is the effect of the buckling defect in a lead-acid battery?

A)Bending of the electrodes B)Decrease in the strength of the electrolyte
C)Shorting between the electrodes D)Increase in internal resistance



As-uRAs Fhr & swfdier QW 1 =41 yHT gar 82
A)SIaeS T el B)solagIalise &1 ATHZY & FHal
C)zamrs & dra aiffsar D)3tiaRe wfeRYer o afe
Answer Key : A

Question No. 95

The total voltage of six 1.5 V cells connected in series is-

A)B V B)12V
C)oV D)3V
G ¥ 3 B 1.5 V Fell F Fel doest gl

A)B V B)12 V
CP Vv D)3 V

Answer Key : C

Question No. 96

Identify the given warning sign.

A) B)

Risk of electric shock Risk of fire

C) D)

Risk of radiation Risk of explosion

T 1T IaEar g9ha T Tg==

B=el & = &1 @I 3T &1 @A



) D)

IEIEZVIEC IR fareie &1 @au

Answer Key : A

Question No. 97
Which type of joint is used for extending the length of conductors in overhead lines?
A)Scarfed joint B)Aerial tap joint
C)Western union joint D)Britannia T joint

g et #F e f S To F AT R TR Sige (S18) F 39T fRar ST §2
A)THTFS FisT B)tRae &9 Sige
C)dreest afereT Sirée D)ferferen T e

Answer Key : C

Question No. 98

The core has limb(s) in a core-type transformer.
A)One B)Four
C)Three D)Two
FR-CET TP 3, X F 37T (limbs) BT &I

A)TH B)aR
C)dfet D)ar

Answer Key : D

Question No. 99

Find the voltage drop across eachresistor in the given circuit.

&
125V ;__
200 300 500
WWA—WWA—WWWY
A) B)
25V, 37.5V,625V 32.6V,425V, 625V
C) D)

75V, 30.5V,60.5V 50V,37V,62V



BT 717 9ftay # 93« 9faius & AX-9X Siece 51T AT ST

+
125V ;__
200 300 500Q
MWWN—AWWN—AWWW
A) B)
25V, 37.5V,62.5V 32.5V,42.5V,625V
C) D)
75V, 30.5V,60.5V 50V,37V,862V

Answer Key : A

Question No. 100
are used by electricians to isolate the flow of electricity to the mains if they need to carry out
maintenance and repair work.
A)Toggle switches B)Limit switches
C)lsolator switches D)Push-button switches

H 3TANT Fafacual G@RT Ad # Reelr & vag & Qe &= & v B . § 3y =%
WREE IR FAFAT F FT AT HETHRAT gt gl
A)etater aa B)fafAe aw
C)3msdrerex aa D)qer-sea o

Answer Key : C

Question No. 101

Which is an absolute instrument?

A)Energy meter B)Ammeter
C)Tangent galvanometer D)Voltmeter
g & T faR9er I Fie-ar 87

A)Far Hiex B)3m e
C)ewoic deaataex D)alecHIeY

Answer Key : C

Question No. 102

The time taken by an alternating quantity to complete one cycle is called the-

A)Cycle B)Frequency

C)Average value D)Time period

T AFfeusd AT @RI UF o P [ e 7 R a G7T Hr gl ST gl
A)arsiher B)3mgfea

C)3irada AT D)#FaTafer



Answer Key : D

Question No. 103
Which of the following is a consideration when ascertaining the condition of the battery before charging the
battery or cell?
A)Ampere hour capacity of each cell B)Voltage of each cell of the battery
C)AIl of the options D)Specific gravity of the electrolyte

SN I FF F Tor T F e S B AT F1 a1 o F foe, Ffaf@d & @ T [gait #r cae
@r ST 9Ifge?

A)Tcd® T H TFIR G HI &TFaT B)dedr & Ucdeh Tl & dlecsl
C)dsredt & & Tefr D)gereiense & faRIse areca

Answer Key : C

Question No. 104

The number of resistors used in a Wheatstone bridge is-

A)Five B)Three
C)Two D)Four
e e F wgaa vfoRiest fr @ g gl
A)arr B)det
Cyar D)@R

Answer Key : D

Question No. 105
According to Kirchhoff's voltage law, the algebraic.sum of all IR drops and EMFs in any closed loop of a
network is always-
A)Zero B)Negative
C)Determined by battery EMF D)Positive

fFTars & dlecsl A & IEUR, Aeas & A o & g9 & @l IR 3@ 3N EMF &1 ds@ifoda e
R @l

AT B) ®UTlcAsh

C)sedr EMF garr fauifa D)teATcH®

Answer Key : A

Question No. 106
is a measure of a circuit element's opposition to current flow.

A)Voltage B)Resistance
C)Conductance D)Current

et aRayr aeg & ORT vare & ufa favier & A g
A)areest B)ufaier
C)areeed D)&IRT
Answer Key : B

Question No. 107



Name the category of the given safety sign.

A) B)

Warning sign Prohibition sign

C) D)

Mandatory sign Information sign

fgw v geaT wFa F T FT A aanv

A) B)

ELIECIR:C] 9T §od

C) D)

AT THha TIAT Fehd

Answer Key : B

Question No. 108

What does the figure shows?

L ]




Hammer Chisel
C) D)

File Hacksaw
e 3l FFar gaid 272

Answer Key : D

Question No. 109

The is an instrument that checks the working condition of a semiconductor diode.
A)Voltmeter B)Line tester

C)Ammeter D)Multimeter

COES T 4T §, St 3o s fr ki Rufa @ s war §
A)areeHex B)dlge ¢¥eX

C)3FHIex D)Aca#HeT

Answer Key : D

Question No. 110

Belted cables are generally used up to-

A)75 kV B)100 kV
C)50 kV D)11 kV
S¢S Fddl HT IGATT, IHAR W as fRar Sar g
A)75 kV B)100 kV
C)50 kv D)11 kV

Answer Key : D

Question No. 111

The tungsten filament lamp temperature is about-



A)1500 K B)2800 K

C)2000 K D)1800 K
SIEesT Rramdie AT FT aT9HNT, FATHIT giar 21

A)1500 K B)2800 K
C)2000 K D)1800 K

Answer Key : B

Question No. 112
What type of device is a transformer?
A)Electrochemical B)Static
C)Rotational D)Magnetic

FE TAPIR, FT THR FT TR §?
A)golagihifiher (fdegd Tamafee) B)rfew ()
C)UeereTel (Fulia) D)#ATafes (dehra)

Answer Key : B

Question No. 113

The ampere-hour efficiency of a lead-acid cell is-

A)70% to 75% B)90% t0.95%
C)60% to 65% D)80% to 85%
R ds-uf@s A fr wdiRR-ue v garar aF g gl

A)70% & 75% B)90% ¥ 95%
C)60% & 65% D)80% & 85%

Answer Key : B

Question No. 114
lamp holders feature two pins that allow for the twisting and locking of the bulb into place.
A)Compact fluorescent B)Wedge-base
C)Bayonet-base D)Halogen

A7 gestt 7 & R @ § S aow A gAR 3R 3R T W Al W B gl & E
A)FIFeT FARRIT B)d-sd
C)sdee-ad D)gelisiet

Answer Key : C

Question No. 115
If, by mistake, a cell connection is reversed in a parallel cell group, then the reversed cell will act as a/an-
A)Reverse voltage B)Open circuit
C)Reverse current D)Short circuit

I, T &, TH AT FARM B FARKR AT G H Ra¥ = Gar awar §, O Rad v mwr da
™ H S e

AREH drecs B)3fue |fdhe

C)Ra¥ e D)eire-afdhe

Answer Key : D



Question No. 116

Which of the following is/are a type of soldering?

A)Silver soldering
C)AIl of the options

B)Soft soldering
D)Hard soldering

Afef@a & ¥ Fla-ar Aesieor &1 & TR §78?

AReat dresRr
C)femedt & & @l

Answer Key : C

B)diFe AeaRaT
D)gTs HieaRar

Question No. 117

The ratio of real power to apparent power is called-

A)Power factor
C)Real power

ARt qIa] HT TS U ¥ A,

A)TraR thaex
C)RTe grax

Answer Key : A

Which of the following is a static error?
A)Random error

C)Gross error

Rrfafla & ¥ Fa- 2w R 8
A)TTERE® I

C)ashel IfC

Answer Key : B

For operating voltages beyond 66 kV,

B)VAR

D)Reactive power

FEAT ¢l
B)VAR
D)RATFea graR

Question No. 118

B)AIl of the options

D)Systematic error

B)fasredr & & el
D)caieyd Jfe

Question No. 119

cables are used.

A)SL-type B)Belted

C)H-type D)Oil-filled

FS 66 kV ¥ 310 F IR aleesT F AT, Fael FT 39T AT FAGT B
A)SL-crsq B)secs

C)H-Trzq D)del-qRe

Answer Key : D

Question No. 120



Find the equivalent resistance in the given circuit.

9V

"
|

10 kQ

C)

3kQ

few a7 aRmy & gagen vy @9 Fifew

9V

— 4P
[¥V]
)

A)

10kQ

C)

3 kQ

Answer Key : B



